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Mains EV



Simple
L oad
Balancing
Rext
RA1
) GND
Rext1 = Rext for full current with 1 EV charging Example: 32A for one EV, 16A per EV for two Evs

Rext2 = Rext for half current with 2 EVs charging

Look up the values from the table
R1 =Rext2/2 Rext1 = 10k for 32A

Rext2 = 56k for 16A
R2=1/(2/Rext1-1/R1)

R1 =Rext2 /2 =56000/2 =27000 = 27k

R2=1/(2/Rext1—-1/R1)=1/(2/10000-1/27000) = 6136
Ana|og EVS E 2 ] O X Use either a potentiometer or select the next largest value from the standard series: 6k8
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